(1) Boththe non-diagonal sides of a right-angled isosceles triangle are
increased by 21%. By what percentage does the size of the
diagonal increase?

a.21 b. 441

c. 42 d 24

{2) Inaschool'slibrary,ifthereare700storybooks and 1400textbooks, then theratio ofthe
storybooksto the textbooks

@3) An dinning table was bought for 10835 and $319 was spend on its transportation.
It was sold at ¥ , if the gain percent on the transaction was 12%.
(4) If the perimeter of a square is 4/3 m. Then the length of each side is

(5) Solve this equation :

3x+10=40



